
P- 配件
Series

螺钉

1-2041-204

■ PLB/PL安装配件规格

规格型号 适用吸盘

柔软型 P4L P6L P8L P10L P15L P20L P30L P40L
柔软波纹风箱型 ― P6LB P8LB P10LB P15B P20LB ― ―

螺钉
FVPL15-M4 ● ● ● ● ● ― ― ―
FVPL40-M6 ― ― ― ― ― ● ● ●

■ PF安装配件规格

规格型号 适用吸盘

薄板用型 P10F P15F P20F P25F P30F

螺钉
PVLF15-M4 ● ● ― ― ―
PVLF30-M6 ― ― ● ● ●

■ PE安装配件规格

规格型号 适用吸盘

椭圆型

P2X4E  P4X10E P4X20E P4X30E P8X20E
P3.5X7E  P5X10E P5X20E P5X30E P8X30E

― P6X10E P6X20E P6X30E ―

螺钉

FSPH10-M6 ● ● ― ― ―
FSPH20-M6 ― ― ● ● ●

FSPH10-B5 ● ● ― ― ―
FSPH20-B5 ― ― ● ● ●

FVPL15-M4 FVPL40-M6

FSPH10 FSPH20

FSPH10-B5 FSPH20-M5

PVLF15-M4 PVLF30-M6

M4x0.7

ø5.3
ø2

ø9.1

H10

2.
2

2.
3

6
12

ø2.5

ø7.4
ø6.5

ø5.3

5
4.

8
6

17
.5

M6x1

H10

1.
4

M6x1

ø5

ø2.4

ø9
ø8

14
 

5
3.

5
1.

5
5

M6x1

ø2
ø10
ø15

ø9

13
 

5
2

1.
5

5

M5x0.8

ø8

ø10

ø5

11
.5

5
2

1.
4

7

M5x0.8ø10

10
.52

1.
5

5 7

ø15
ø10

ø1.5
M4x0.7

ø7

ø9

24.
7

10

H10

14

ø1.5
M6x1

ø13

ø17

24.
7

13

H17

18
.5

■ PR/PA/PB/PK/PW安装配件规格

规格型号 适用吸盘

吸盘

标准型 P10R P15R P20R P25R P30R P40R P50R P60R P80R P100R P150R P200R
深凹型 ― P15A P20A P25A P30A P40A P50A ― ― ― ― ―

波纹风箱型 P10B P15B P20B P25B P30B P40B P50B ― P80B ― ― ―
防滑型 P10K ― P20K ― P30K P40K P50K ― ― ― ― ―
多层型 P10W ― P20W ― P30W P40W P50W ― ― ― ― ―

螺钉

PM46-6 ● ● ― ― ― ― ― ― ― ― ― ―
PM610-8 ― ― ● ● ― ― ― ― ― ― ― ―
PM612-10 ― ― ― ― ● ― ― ― ― ― ― ―
PM610-15 ― ― ― ― ― ● ● ― ― ― ― ―
PM1018 ― ― ― ― ― ― ― ● ● ● ― ―
PM2028 ― ― ― ― ― ― ― ― ― ― ● ●

压板

PW40 ― ― ― ― ― ● ― ― ― ― ― ―
PW50 ― ― ― ― ― ― ● ― ― ― ― ―
PW60 ― ― ― ― ― ― ― ● ― ― ― ―
PW80 ― ― ― ― ― ― ― ― ● ― ― ―
PW100 ― ― ― ― ― ― ― ― ― ● ― ―

盖板

PH80 ― ― ― ― ― ― ― ― ● ― ― ―
PH100 ― ― ― ― ― ― ― ― ― ● ― ―
PH150 ― ― ― ― ― ― ― ― ― ― ● ●

PM46-6 PM610-8

PM612-10 PM610-15

PM1018 PM2028

PW40 PW50 PW60 PW80 PW100

对边2

M4x0.7

ø5
ø6

3.
5

8.
5

2.
5

ø2
M6x1
ø3

ø9.7
ø7

2.
5

10
.5

4.
5

H3

H3

M6x1

3
13

6

ø11.8
ø7

ø3

H3

M6x1

2.
5

16
.5 9

ø9.8
ø6

ø3

M10x1.5

4
25

17

ø6

H14

ø15
ø11

ø6

5

ø20
ø11

ø6

5

M20x2
ø10

H14

8
34

20

H27

ø68
ø52

M5X0.8ø36

4

ø28
ø23

ø10

7

ø52
ø41

M4X0.7ø30

4

―


